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Quantitative Methods
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[Minimum Pass Marks : 36

SICEIER Gl | B e | s s L =
sw M ¥ |

Note : Answer any five questions. All questions carry
equal marks.

1. Y@ FHRYE 1 STTYRN hl 0BT | W
FHARYA o W qu1 Well & e
HITSTT |
Explain the concept of Linear Programming.

Discuss the importance and limitations of Linear
Programming.
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2. ©w fagi@ w1 §27 ‘y-ufn wa fEA
RIS W Ra & ? 9o fagia @ dn

AR |

What is Game Theory ? On which assumptions
‘zero-sum game’ depends upon ? Mention the

limitations of Game Theory.
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(3)

Calculate Karl Pearson’s correlation coefficient
between rainfall and production from the
following data :

Rainfall Production

(cm) (Quintal)
8 24
10 30
12 30
14 40
16 48
18 46
20 56
22 70

4. TrAfafed wHel 9 Y &1 A9 Jd HieC S
X =17

X Y
3 2
5 3
6 4
8 6
9 5
11 8
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(4)

From the following data, find the value of Y when

X=7:

X
3
5
6
8
9

11
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5. oiadyq 3R dfgdya & 1 w1 GEEET)

SHRl T HEd © ?

Explain the meaning of interpolation and

extrapolation. What are its importance ?

o o

6. TIHTAEd A

RSl H W AR W S

T ;
X Y
20 60
25 66
30 ?
35 72
40 75
45 80
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(3)

Interpolate the missing figure in the following
data :

X Y
20 60
25 66
30 ?

35 72
40 75
45 80

7. TSy’ ¥ MY T GHEd ¥ ? UedeY 9
sy fFE yeER = §2 TEer st
F fH S 22

What do you understand by ‘Association of
Attributes’ ? How does association of attributes
differ from correlation ? How is it studied ?

8. fTrefafen # 4 fo=t @ W dfara femfomr
fafay :
(a) <@ =aeE Ofa
(b wWa =y Gfa
() T fayH

(d) WA T HIa TAT
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(6)
Write short notes on any two of the following :
(a) Random Sampling
(b) Stratified Sampling
(c¢) Probable Error

(d) Simple and Compound Events

frafafed §9el 9 R &1 909 gaehis
I wive iR fag wive fF o® 9w
SCHIFAA] qAT T IGhIHIdl TUETI W il

i

YR o 2010 | =M 9§ 2011
< hiHd q&l | hiHd qTT
A 15 20 20 18
B 25 40 30 36
C 40 50 35 18

From the following data compute Fisher’s Price
Index and prove, that it satisfies the time reversal
and factor reversal tests :

Base Year 2010 | Current Year 2011

Article Price | Quantity| Price | Quantity

A 15 20 20 18
B 25 40 30 36
C 40 50 35 18
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(7)
10. Tifaerar & fagid = famr 9 gusmEn)

Explain, in detail, the theory of Probability.
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